QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Trafafea vy # ffr o feredl & @ wy g
(?) & T W HA IRl ST B AT

1 8 | 27
1 4 | ?
Options:
1) 18
2)9
3)6
4)5

Correct Answer: 9
Candidate Answer: 9

QID: 202-
How many rectangles are there in the given figure?

& TE apia A Rraa s B

Options:

1)9

2)11

3)8

4)6

Correct Answer: 9
Candidate Answer: 9




QID : 203 -

A word is represented by only one set of numbers as given in any one of
the alternalives. The sets of numbers given in the alternatives are
represented by iwo classes of alphabels as shown in the given lwo
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-Il are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C’ can
be represented by 10, 56, etc., and ‘H’ can be represented by 30, 67, etc.
Similarly, you have to identify the set for the word “JUMP®.

T QEG had U OEA-WE N1 G TAT & ofer TR fawedt & @
Frell T 3 Tear v ¥ et & By v deur-wew R & of anit
ERT e’fT 7w §, SR fF |u 1w & Ieggr 3 € AR 3 T AR
Ofn T TEAT 0 H 4 § AN AT 5 ¥ 91 3T Hegg ¥ TH HaW
F Ugel IWH URE IR A F TOEM §WN gRT R ST TehaT B
IEIELT & O ‘o’ ar 10, 56, HTTE ERT AT S TehaT § Jur M’ @I 30,
67, 3N gHT geifar o Faar &1 W e 4 WU 99 & Gu e
“JUMP” & foe THE @ aeaEET R

Matrix-| Matrix-ll

IRl HTegg-ll
o0j1)2(3]4 5(6|7(8]|9
0|V|IK|D|F|R SWwWIC|lU|G]|I
1|C{W|O | H|V 6lK|J|[H|Q|S
2|1TIS|(Y|J|S 7TIUJE|Y|B|A
3|H|F|J|C|R 8|F|H|P|L|N
4D|S|[U|NJA glA|IRI(M|T|O

Options:
1)32,75,11,41

2) 66, 42, 97, 87
3) 67, 97, 67, 43

4) 32, 44, 59, 87
Correct Answer: 66, 42, 97, 87
Candidate Answer: 66, 42, 97, 87

QID: 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR AT HIpad A § 3@ W HIHA g
orm # uy gl BT &




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

P W 3 IFHT T AE & e ® g
FI?

ol /]

NS

~J




Options:

1) - k
2) \
3) k

Correct Answer:

\

Candidate Answer:

o \J

QID : 206 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE T FOUT @ AB Y@T UT T@T ST, a1 & 9
ToT HTHEA A @ B @ WGy Uy Hpla &
g wiafesa g@eve

A
l<—
N
B




Options:

1)
— 1

2)

l<=—

Correct Answer:

-

Candidate Answer:

—

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & Uy IEaal # R MgER BT @
HAIZRT Dd T Wil & a1g a5 *FE 39 ATHa
s fewre gone

T ||

B B e s R o s P SR e B e (e VT



Options:
1)

0.0
OOO

2)

0N
O O

3)

O

4)

O
OO

Correct Answer:

0.0
OOO

Candidate Answer:

0.0
OOO

QID : 208 - If 'P' means -, 'Q' means '+', 'R' means '+' and 'S' means 'x’, then
56S3Q14R2P1="?
M 1P 1 31 ', 'Q T 3 '+, 'R BT 3 '+ YT 'S b 31 ' g,

56S3Q14R2P1=?
Options:

1) 13

2) 15

3)19

4) 27

Correct Answer: 13
Candidate Answer: 13

QID:209-If6x2+6=2and7 x 1+ 3 =5, then
11x1+13=7?
qI6x2+6=2TN7x1+-3=58],d

11x1+13=7?
Options:

1)9

2)0

3)1

4)-1

Correct Answer: — 1
Candidate Answer: — 1




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Word

2. Wild

3. Wand

4. Wage
5. Wicked

FAfIEd Uedl B Usad = H S ald HF P SIUR o |
1. Word
2. wild
3. Wand

4. Wage
5. Wicked

Options:
1) 43521

2) 45321
3) 43512

4) 45312

Correct Answer: 43521

Candidate Answer: 43521

QID : 211 - In the following question, select the missing number from the given series.
11,13,17,23,31,?

FafaRed w7 fou T fGeedt § 9 q@ i 1d sl

11, 13,17, 23,31,?
Options:
1) 53

2)41

3) 47

4) 56

Correct Answer: 41

Candidate Answer: 41

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AZ, DW, GT, ?

TP Sy T T B, o § ue ue qw 81 feu e faswed! | & a8 W fidwed gAY, S SiwH B R |

AZ, DW, GT, ?
Options:
1) JQ

2) R
3) KQ

4) KR
Correct Answer: JQ
Candidate Answer: JQ

QID : 213 - In the following question, select the odd word from the given alternatives.

Froferiaa uy & 3w 7 et § I faww 2ee 31 gfu
Options:

1) Box

2) Aimirah

SR

3) Beer

[ERN

4) Barrel
ER|




Correct Answer: Beer

Candidate Answer: Almirah

QID : 214 - In the following question, select the odd number pair from the given alternatives.

Frafafea uy & fow T fawe & § fawy @ 3w &1 gful
Options:

1) 10-101

2) 12 - 145

3)13-170

4)5-27

Correct Answer: 5 - 27

Candidate Answer: 5 - 27

QID : 215 - In the following question, select the odd letters from the given alternatives.

FrafeRed vy # fau 11 el & 9 favw sigrl &1 ghu
Options:

1) PM

2) DA

3)RP

4) OL
Correct Answer: RP
Candidate Answer: RP

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Cricket, Cricketer, Batsman
Ig o gL ot A1 fiu T oo & <t 3 dee o1 wel U ddr

fopdpe, fpdpex, T
Options:

©

2

—

©

3

a

— | —

g

Correct Answer:

©




Candidate Answer:

©

QID : 217 - In the following question, select the related word from the given alternatives.

Candle : Light : : Clouds : ?
iR v o AU 1 fdeedl O 9§ Hefdd wsg 31 gHul
! ; A= IEd 2
Options:

1) White

g

2) Rain

3) Black

EaNIl

4) High

$dl

Correct Answer: Rain

Candidate Answer: Rain

QID : 218 - In the following question, select the related number from the given alternatives.
96:6::256:?

Frofrad uy # fau T¢ fawedt & & e em &1 ghu)

96:6::256:?

Options:

1) 16

2) 25

3) 66

4) 46
Correct Answer: 16
Candidate Answer: 16

QID : 219 - In the following question, select the related letters from the given alternatives.
OPQ:RST::ABC:?

Fafared gy # fou e fawet § ¥ el ol 31 gl

OPQ:RST::ABC:?

Options:

1) BCA

2) DMN

3) DEF

4) ABD
Correct Answer: DEF
Candidate Answer: DEF

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
CONVICTED
Fafeed fdeed @ ¥ 98 Wsg g Sl faT 7T egt & 3H&RT BT UGRT HIb Tol ST Sl FhelT|

CONVICTED




Options:
1) CITE

2) NODE
3) TONE

4) DESK
Correct Answer: DESK
Candidate Answer: DESK

QID : 221 - Weight of B is twice that of C. Weight of C is 1/3 of D. Weight of D is 4 times of F. Weight of F is 1/3 of E. The weight of C is greater than the weight of
how many persons among B, D, E and F?

BHI YR CHIGRAT G| CHIUR D BT 1/3 I D BT UR FHI 4TI G| F HI YR E I 1/3§1 CHIUR, B, D, E 7T F H I S Aol & UR ¥ &1fip g2
Options:
1)3

2)2
3)1

4)0
Correct Answer: 1
Candidate Answer: 0

QID : 222 - P is 5 years older to Q. Q is 6 years younger to R. R is 5 years older to S. S is 4 years younger to T. Who is the eldest?

P,QUs T TSIRIQ RUGTIBIITIR, ST5AT TSI S, TH 4 7Y BT § | Jad 5T B 67
Options:

HT

2)P

3)Q

4)R

Correct Answer: R

Candidate Answer: R

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. No sheep is blue.
II. All blue are pink.

Conclusions:
I. Some pink are blue.
I1. No sheep is pink.

T feu T Uy B S8 BY 3R 3% 918 37 HUH! IR AR $2 ey fGu U §, i I um 1 audt o e g1 wedt g1 @it e ug iR fimw Feffea
F3 o TRu MU o § e, AT T HY & SMyR W GIRETd g

DY
L ®I3 9 =iIcll 7 81
1. ot <fem garel E

I. $© ae I

II. B1g NS Tars T8l B

Options:

1) Only conclusion (I) follows.

Faa fwpy (1) Tet 31

2) Only conclusion (II) follows.

Faa fspd (11) WEt B

3) Both conclusion follow.

T €t ey wgt B

4) Neither conclusion (I) nor conclusion (II) follows.
T P (1) 7 P (1n) e R

Correct Answer: Only conclusion (I) follows.
Fad ey (1) T R

Candidate Answer: Only conclusion (I) follows.

Faa ey (1) T R




QID : 224 - In a certain code language, "TRIGER" is written as "UTLHGU". How is "TRAITS" written in that code language?

e IR PS4 H, "TRIGER" &1 "UTLHGU" {oRaT Wil 81 59 IS HIW & "TRAITS" & {59 UHR ferar Siwm?
Options:
1) UTDIW

2) VWITDB
3) CDIVWP

4) PQAZCW
Correct Answer: UTDJVV
Candidate Answer: UTDJWV

QID : 225 - In a certain code language, "FLUID" is written as "96321" and "CHUNK" is written as "78350". How is "LUNCH" written in that code language?

% IR Hs 4 F, "FLUID" &1 "96321" TUT "CHUNK" & "78350" {33l Sal €1 39 PIs HIW H "LUNCH" & {5 UoR ferar Seem?
Options:
1) 57860

2) 63578
3) 78650

4) 36875
Correct Answer: 63578
Candidate Answer: 63578

QID : 226 - What least number must be added to 11158, so that the sum is divisible by 77 ?

11158 T &1 9§ &1 foha- I= St oIt a1t o anmea 77 | gofa: favrsa g se?
Options:

1)9

2)8

3)7

4)5

Correct Answer: 7

Candidate Answer: 7

QID : 227 - The divisior is 50 times the quotient and 10 times the remainder. If the quotient is 32, what is the dividend?

TH YISH, YRTHA BT 50 AT 3R A BT 10 AT 51 Al UFTHA 32 8, 1 U &1 82
Options:
1) 51000
2) 51360
3) 61000
4) 61520

Correct Answer: 51360
Candidate Answer: 51360

QID : 228 - A number when divided by 192 gives a remainder of 54. What remainder would be obtained on dividing the same number by 16?

fort TRam & 192 § YIT 39 R 9Y 54 U S 31 I TS F 16 F YT 7 R e AW v e
Options:

1)2

2)4

3)6

4)8

Correct Answer: 6

Candidate Answer: 6

QID : 229 - The smallest 5-digit number divisible by 41 is

41 9 YT 5 Sl B Iad B T gl
Options:

1) 10054

2) 10041

3) 10004

4) 41000

Correct Answer: 10004

Candidate Answer: 10004

R oS s TR ot PO SRR ey B o Vo WY



QID : 230 - The sum of the squares of two positive numbers is 100 and difference of their square is 28. What is the sum of the given numbers.

Bl TS Gerelt & aif T AT 100 B 3R 3% o T 3faR 28 B 1 < T ST TRerSit T ANT T BRI
Options:

1) 12

2)13

3) 14

4) 15

Correct Answer: 14

Candidate Answer: 14

QID : 231 - The product of two positive numbers is 1152. If one number is two times the other, then what will be the sum of the two numbers?

3l eI el &1 UATd 1152 §1 1S Th T gk ¥ &1 A1 8, o1 S xerel &1 i fasan grm?
Options:
1) 68

2)72
3) 76

4) 80
Correct Answer: 72
Candidate Answer: 72

QID : 232 - Ram and Shyam together can finish a job in 8 days. Ram can finish the same job on his own in 12 days. How long will Shyam alone take to finish that
work?

M SR T 5t M o teury e 8 i H I R Id B 1 I Shd 94 B @l 12 Tl H O3 IR IadT ¢ | W Sad 39 D & fhad I § G PR Am?
Options:

1) 16 days

16 a1

2) 20 days

20f&

3) 24 days

24 1%

4) 30 days

30 faT

Correct Answer: 24 days

24 feq

Candidate Answer: 24 days

24 fe

QID : 233 - Two persons can complete a piece of work in 9 days. How many more persons are needed to complete double the work in 12 days?

&l e forit o1 &1 9 forell & QR R W ©1 12 T & ST 1 1 OR1 _Al 3 T fpay siftrer safalt &bt srawaarar gnile
Options:

1)3

2)2

3)4

4)1

Correct Answer: 3

Candidate Answer: 1

QID : 234 - If each edge of a cube is increased by 50%, so what will be percentage increase in its surface area?

Ife; et T & TP fbIR BT 50% T Ta1 ferm oIrelt €, ol 39! Iag & aawd § fara iasid &t gfg gni
Options:
1) 75%

2) 100%
3) 125%

4) 150%
Correct Answer: 125%
Candidate Answer: 125%

QID : 235 - A trader marks price of his goods 45% above the cost price and gives a discount of 20% on the marked price. What percentage of profit will the trader
have?

T IR 310 WHH R e, B4 [ W,/ geravEm



Options:

1) 15%

2) 14%

3) 29%

4) 16%

Correct Answer: 16%
Candidate Answer: 16%

QID : 236 - Ravi buys an article with a discount of 25% on its marked price. He makes a profit of 10% by selling it at Rs 660. What was the marked price of the
article?

Y v g wiear § o/ WR sifthd g § 25% P ge & Sk 8 1 98 I 660 T H qAH 10% T UK HRaT 3. 39 ¥ &l ifebd T e o
Options:

1) Rs. 600

600 %

2) Rs. 700

700

3) Rs. 800

800 %

4) Rs. 685

6853

Correct Answer: Rs. 800
800 %

Candidate Answer: Rs. 800
800 %

QID : 237 - The ages of Surabhi and Neerja are in the ratio 6 : 7, respectively. After 6 years, the ratio of their ages will be 15 : 17. What is Neerja's age?

TRAY SR RS B 31 A 6 : 7 F U H §1 6 I 18, STD! MG BT U 15 : 17 G| RS 31 3G fobat 2
Options:

1) 24 years

24 91

2) 32 years

32 91

3) 26 years

26 91

4) 28 years

PARSINE

Correct Answer: 28 years
28 91

Candidate Answer: 28 years
28 91

QID : 238 - Annual incomes of Amit and Veer are in the ratio 3 : 2, while the ratio of their expenditure is 5 : 3. If at the end of the year each saves Rs 1000, then
what is the annual income of Amit?

gﬁﬁah?a?aﬁmﬁma{m3:zaiagqmﬁ%,mm@%fmﬁws:3%1Hﬁaﬂﬁmwaﬁa{aﬁmowww%ﬁraﬁmaﬂaﬁ%mﬁ%ﬁﬁ
?

Options:
1) Rs. 9000
9000 ¥

2) Rs. 8000
8000 %

3) Rs. 7000
7000 %

4) Rs. 6000
6000

Correct Answer: Rs. 6000
6000 ¥

Candidate Answer: Rs. 6000
6000 ¥

QID : 239 - What is the average of first 50 natural numbers?

T 50 T Iemel @1 3l fba 82
Options:

1) 12.25

2)21.25

3)25

4) 25.5

Correct Answer: 25.5
Candidate Answer: 25.5




QID : 240 - A shopkeeper marks price of his goods in such a way that after allowing a discount of 10%, he gains 26 %. How much percent above the cost price is
the marked price?

T PHMER U IHH BT I 39 UHR F 3ifehd X1 3 [ 10% Fe & & 918, Ig 26% a1 Tl ¢ 1 3ifed e, a0 qeu & o vl s 2
Options:

1) 36%

2) 38%

3) 40%

4) 28%

Correct Answer: 40%

Candidate Answer: 40%

QID : 241 - On selling an article for Rs 264 a man loses 4%. In order to gain 12%, for how much he must sell the article?

264 T H1 TS THH 99 TR TS SMEH! BT 4% BT G gl 51 12% T I F T I 39 a¥g &I fpa T So1 A1ige?
Options:

1) Rs. 283.85

283.85%

2) Rs. 308

308%

3) Rs. 285

285%

4) Rs. 298.50

298.50

Correct Answer: Rs. 308
308%

Candidate Answer: Rs. 308
308%

QID : 242 - If A's income is 40% less than that of B, how much percent B's income is more than that of A?

IS A BT 3T B BT 3T W 40% FH €, U B B 31T A F fovawt wfo=ra i g2
Options:

1) 40%

2) 60%

3) 66.66%

4) 33.33%

Correct Answer: 66.66%

Candidate Answer: 66.66%

QID : 243 - A man's working hours per day were increased by 20% and his wages per hour were increased by 15 %. By how much percent were his daily earnings
increased ?

& e & Ul foT B & HS BT 20% TGHT T/ 3R B! Horgsl Ul 19 15% d TgTs 718 | SUD| o b e # fhan ufow &t 3fS g8
Options:

1) 38%

2) 35%

3) 5%

4) 40%

Correct Answer: 38%

Candidate Answer: 38%

QID : 244 - A car covers a distance of 480 km at a uniform speed. If the speed of the car is 10 km/hour more, then it takes 2 hours less to cover the same distance.
What was the original speed of the car?

ﬁwgwwﬁ@moﬁ‘!ﬂﬁ@a&m%lﬁwﬁﬁ 10 fopefiydiet 3ifde §idll, ol ol 81 g8 I 99 B | 2 °e BT GHY HH ATl PR B dRd1de
Eaikiip

Options:

1) 45 km/hr

45 fopdi/der

2) 50 km/hr

50 farefiyeier
3) 60 km/hr

60 fodi/der

4) 70 km/hr

70 fasfiyeier

Correct Answer: 60 km/hr
60 farfiyeier

Candidate Answer: 60 km/hr
60 foreii/der

R oS s TR ot PO SRR ey B o Vo WY



QID : 245 - A man riding his bicycle covers 150 meters in 25 seconds. What is his speed in km/hr?

T 3Tt 3 Wrsfora & 150 M. 3 it 25 Ydhg a7 Fxar g1 I9at i fop. 1. ufay ger A g
Options:

1) 25

2)21.6

3)23

4) 20

Correct Answer: 21.6

Candidate Answer: 21.6

QID : 246 - At a simple rate of interest, an amount of Rs 2100 becomes Rs 2352 in 2 years. If the interest rate is decreased by 1% then what is the new interest in
2 years?

U QIR S7ST < F 2100 T i AR 2 1A H 2352 F 81 9T §1 A s &R A 1% &1 Hll 31 et &, ) 2 9rar & =11 st faamn g
Options:

1) Rs. 210

210%

2) Rs. 220

2203

3) Rs. 242

242%

4) Rs. 252

252%

Correct Answer: Rs. 210
210%

Candidate Answer: Rs. 210

210%

QID: 247 -
The pie-chart below shows percentage of maney spent on different
sports in a state in a particular year. The total amount spent on all
sportsis Rs 150 Crore.

Answer the following question on the basis of data given in the
chart below.

e fer o 9w & R v TRy & G aew F BfEes
wwgmwwmwﬁlﬁmmwwwom
T @ T A

Trfof@a ved &1 W 915 T § geiT T 37T &
HER 9T &I

3 Cricket/ﬁw_av_(f

8 Football peeter

O Hockey/gIhT

B Tennis/foid

O Basketball/arEhe il
O Golf/aNe®

U Others/3T0d

What is amount of money spent on Cricket and Hockey together?

pepe 3R BT! i firene T & 1S A fba &7




Options:

1) Rs 57 crore
57 RIS ¥

2) Rs 82.5 crore
82.5HRIS T

3) Rs 85.5 crore
85.5 BRIS &

4) Rs 84.5 crore
84.5 RIS ©

Correct Answer: Rs 85.5 crore

85.5 RIS T

Candidate Answer: Rs 85.5 crore

85.5 RS T

QID : 248 -
The pie-chart below shows percentage of money spent on different
sports in a state in a particular year. The total amount spent on all
sportsis Rs 150 Crore.

Answer the following question on the basis of data given in the
chart below.

A fer v O1$ = F Y av ey F T e & e
Well I gV @ ol fawor fear arar 819! @ell R ger 150 als
TR @ U A

rAfaf@a Jed o1 @ 915 T F gefiv v 3ndst &
IER W 4

5% O Cricket/ fehehe

Ve ;%
/1% B Football Ahedier
= d Hockey/%uﬁ
f:";:;"“ : 8 Tennis/id
O gasketball/SEdediel

O Golf/aTies

. 18%

Y Others/370d

The total spent on Football and Golf together is equal to spent of which single sport?

Peald 3R e B A gon T (69 U Jd | gU WY & SRR g2
Options:

1) Tennis

g

22 Hockey

3) Cricket

foppe

4) None of these
T faed wdt T 7

Correct Answer: Hockey

Candidate Answer: Hockey




QID: 249 -
The pie-chart below shows percentage of money spent on different
sports in a state in a particular year. The total amount spent on all
sportsis Rs 150 Crore.

Answer the following question on the basis of datagiven in the
chart below.

AR T v 9i$ @é 7 et o fodw & o oo & e
Well X §T @ &M faeror fGar srar §13H dall 7 g 150 915
TRy @ fRe v

rrafeg ged &1 W 95 =¢ 7 cufv 71w 3nest &
AR 9 81

O Cricket/frede

B Football Apearer

g Hockey/ﬁﬁ

B Tennis/ ot

O pasketball/SEdcdiel
H Golf/3Tet

U Others/3104

How much more amount is spent on Hockey than Football?

Feaid B gal 3 81! W faa sifie T foar o g2
Options:

1) Rs 6 crore

6 IS T

2) Rs 7.5 crore

75 R8T

3) Rs 4.5 crore

45 TS T

4) Rs 6.5 crore

6.5 IS T

Correct Answer: Rs 6 crore

6 IS B

Candidate Answer: Rs 6 crore

6 TS B




QID : 250 -
The pie-chart below shows percentage of money spent on different
sports in a state in a particular year. The total amount spent on all
sportsis Rs 150 Crore.

Answer the following question on the basis of datagiven in the
chart below.

o fer aw 9 = F ot ¥ ey & e uew & [Bfdew
Well X §T @ &M faeror fGar srar §13H dall 7 g 150 915
TRy @ fRe v

rrafeg ged &1 W 95 =¢ 7 cufv 71w 3nest &
AR 9 81

O Cricket/frede

B Football Apearer

O Hockey/gIRT

B Tennis/¢ A

O Basketball/SR<rcdier
O Golf/aNet®

. 18%

U Others/3104

How much more amount is spent on Cricket than the money spent on Hockey and Football together?

glat 3R Peala W AR gu Td ot ga | fhde W e sifties T forar Sirar 82
Options:

1) Rs 9 crore

IS T

2) Rs 11.5 crore

115 AS T

3) Rs 9.5 crore

9.5 IS T

4) Rs 10.5 crore

10.5HIS %

Correct Answer: Rs 10.5 crore

10.5 RIS T

Candidate Answer: Rs 10.5 crore

10.5 RIS ¥

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

From Germany to Venezuela to South Africa, equity markets (1)/ in both mature and emerging markets has (2)/ moved up sharply this year and show little sign of
slowing. (3)/ No error (4)

Options:

1)1

2)2

3)3

44
Correct Answer: 2
Candidate Answer: 3




QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It started out lending small sums to poor (1)/ entrepreneurs in the country to help them (2)/ grow from a subsistence living to a livelihoods. (3)/ No error (4)
Options:

N1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The building is being
Options:

1) make

2) made

3) making

4) makes

Correct Answer: made

Candidate Answer: made

by the labourers.

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The homework will be finished by him an hour.
Options:
1)in

2) for
3) of

4) off
Correct Answer: in
Candidate Answer: for

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Hurdle
Options:
1) Opening

2) Advantage
3) Obstruction

4) Accelerator
Correct Answer: Obstruction
Candidate Answer: Obstruction

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Parity

Options:

1) Closeness

2) Inequality

3) Disproportion

4) Difference

Correct Answer: Closeness

Candidate Answer: Disproportion

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Frail




Options:
1) Firm

2) Fragile
3) Strong

4) Heavy
Correct Answer: Fragile
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Awake

Options:

1) Alive

2) Excited

3) Roused

4) Asleep
Correct Answer: Asleep
Candidate Answer: Asleep

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Expand

Options:

1) Shrink

2) Amplify

3) Bloat

4) Detail
Correct Answer: Shrink
Candidate Answer: Shrink

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Curse

Options:

1) Boon

2) Bane

3) Hateful

4) Ban
Correct Answer: Boon
Candidate Answer: Boon

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Cat nap

Options:

1) To have a short light sleep

2) To have disturbed sleep

3) Crying while sleeping

4) Murmuring while sleeping
Correct Answer: To have a short light sleep
Candidate Answer: To have disturbed sleep

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Couch potato




Options:
1) A fat person

2) Lover of potato vegetable
3) A lazy person

4) Person having short height
Correct Answer: A lazy person
Candidate Answer: A lazy person

QID : 263 - Improve the bracketed part of the sentence.

This standardized platform will allow us to tailor a custom curriculum that will be (match) to talents, interests and life goals.
Options:

1) matches

2) matched

3) matchs

4) No improvement
Correct Answer: matched
Candidate Answer: matched

QID : 264 - Improve the bracketed part of the sentence.

Parents (shall) make strong efforts to curtail the extreme fad for fashion from their children’s minds.
Options:

1) should

2) are

3) were

4) No improvement
Correct Answer: should
Candidate Answer: should

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
Do away with.

Options:

1) Replenish

2) Refurbish

3) Abolish

4) Relinquish
Correct Answer: Abolish
Candidate Answer: Abolish

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
Song sung at burial.

Options:

1) Hymn

2) Dirge

3) Lyric

4) Ode
Correct Answer: Dirge
Candidate Answer: Dirge

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.




Options:
1) Sucseed

2) Suceed
3) Succeed

4) Succed
Correct Answer: Succeed
Candidate Answer: Succeed

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Biscut

2) Biscuite
3) Biscuit

4) Bescucit
Correct Answer: Biscuit
Candidate Answer: Biscuite

QID : 269 - Rearrange the parts of the sentence in correct order.

When I

P: I was at the

Q: joined the company

R: bottom of the hierarchy

Options:
1) QPR

2) RPQ
3) PRQ

4) PQR
Correct Answer: QPR
Candidate Answer: QPR

QID : 270 - Rearrange the parts of the sentence in correct order.

Domestic
P:violence is
Q: inhuman act
R: a very
Options:

1) RPQ

2) PRQ
3) QRP

4) RQP
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Internet is a vast network of networks using which we can any information stored within it from any corner of the world. It is accessed through
a telecommunications line and modulator-demodulator and comes to the computer by modifying analogue telephone signals into the digital computer signals. The
invention of the has brought uncounted advantages to us however we cannot turn our face from its . Internet is used all over the world for many
purposes including sending electronic mail, messaging, online chat, transferring file, access web pages and other documents over World Wide

we can any information
Options:
1) access
2) excess

3) recess

4) assess




Correct Answer: access
Candidate Answer: access

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Internet is a vast network of networks using which we can any information stored within it from any corner of the world. It is accessed through
a telecommunications line and modulator-demodulator and comes to the computer by modifying analogue telephone signals into the digital computer signals. The
invention of the has brought uncounted advantages to us however we cannot turn our face from its . Internet is used all over the world for many
purposes including sending electronic mail, messaging, online chat, transferring file, access web pages and other documents over World Wide

It is accessed through
Options:
1) somewhere

2) anywhere
3) nowhere

4) elsewhere
Correct Answer: anywhere
Candidate Answer: anywhere

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Internet is a vast network of networks using which we can any information stored within it from any corner of the world. It is accessed through
a telecommunications line and modulator-demodulator and comes to the computer by modifying analogue telephone signals into the digital computer signals. The
invention of the has brought uncounted advantages to us however we cannot turn our face from its . Internet is used all over the world for many
purposes including sending electronic mail, messaging, online chat, transferring file, access web pages and other documents over World Wide

invention of the has brought
Options:
1) extranet

2) ethernet
3) internet

4) intranet
Correct Answer: internet
Candidate Answer: internet

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Internet is a vast network of networks using which we can any information stored within it from any corner of the world. It is accessed through
a telecommunications line and modulator-demodulator and comes to the computer by modifying analogue telephone signals into the digital computer signals. The
invention of the has brought uncounted advantages to us however we cannot turn our face from its . Internet is used all over the world for many
purposes including sending electronic mail, messaging, online chat, transferring file, access web pages and other documents over World Wide

our face from its

Options:
1) advantages

2) results
3) uses

4) disadvantages
Correct Answer: disadvantages
Candidate Answer: advantages

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Internet is a vast network of networks using which we can any information stored within it from any corner of the world. It is accessed through
a telecommunications line and modulator-demodulator and comes to the computer by modifying analogue telephone signals into the digital computer signals. The
invention of the has brought uncounted advantages to us however we cannot turn our face from its . Internet is used all over the world for many
purposes including sending electronic mail, messaging, online chat, transferring file, access web pages and other documents over World Wide

documents over World Wide
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Options:
1) Cob

2) Net
3) Set

4) Web
Correct Answer: Web
Candidate Answer: Web

QID : 276 - Which of the following state introduced Employment Guarantee Scheme first?

Frafiied 7 4 50 I9 3 9o Ugd ISR RS TS BT YEA B1?

Options:
1) Karnataka

2) Madhya Pradesh
o Uedl
3) Maharastra

4) West Bengal
TigH ST

Correct Answer: Maharastra
HERTY

Candiglate Answer: West Bengal
Tiyw e

QID : 277 - Which of the following is known as soft loan window of the World Bank?

93§ 59 9y S & dive aF 48 & U § oM o €2

Options:
1) IDA

2) IBRD

3) IFC

SR

4) MIGA
THATESIT

Correct Answer: IDA

Candidate Answer: IDA

QID : 278 - Who was the first Chief Election Commissioner of India?

URA F U8 T 14 g HH 42
Options:

1) Nagendra Singh

g e

2) Sukumar Sen

3) T N Seshan

< T Qv

4) T Swaminathan

<t arARE

Correct Answer: Sukumar Sen
JHAR I

Candidate Answer: Sukumar Sen

JPUR I
QID : 279 - What is the minimum age required to be the President of India ?

YRA P IFART T & o0 7am 39 1 32




Options:
1) 25 years
25 91d

2) 30 years
30 91

3) 18 years
18 af

4) 35 years
35 91

Correct Answer: 35 years
35 91

Candidate Answer: 35 years
359

QID : 280 - Who was the father of Tipu Sultan?

g geaH BT I S U1
Options:

1) Mir Qasim

R B

2) Mir Jafar

HR S

3) Haider Ali
fefl

4) Shah Alam
RMle TH
Correct Answer: Haider Ali

Candidate Answer: Haider Ali

QID : 281 - In which language were the Buddhist literary works generally written?

S Tifew g yrw 7 foreht 71 e
Options:
1_) Sanskrit

Jq&pd

2) Pali
qreft

3) Brahmi

4) Prakrit
Hihd

Correct Answer: Pali

Candidate Answer: Prakrit

Hipd

QID : 282 - Which river is known as the Sorrow of Bihar?

48R % P S TY  fb et I ST el 82
Options:

1) Ganga

T

2) Gandak

Tish

3) Kosi

4) Son
g4
Correct Answer: Kosi

Candidate Answer: Son

QID : 283 - Which plateau lies between the Aravalli and the Vindhya ranges?
SRTT SR fer gdammen & &9 B 91 U6R g7




Options:

1) Malwa

EIEI

2) Deccan

3) Chhota Nagpur
BICT AN

4) No option is correct
IS facped Tt TE B

Correct Answer: Malwa
HiAd!

Candidate Answer: Malwa
Hlcldr

QID : 284 - Which one of the following is not a true fish?

fgfafed & § o W U@ a8 76 82
Options:

1) Jellyfish

Siferfte=r

2) Starfish
TRIG

3) Cuttlefish
Hedalh

4) All options are correct.

i fadey w1 1

Correct Answer: All options are correct.
el fade gt 81

Candidate Answer: Jellyfish

IRt

QID : 285 - Which of the following diseases is caused by a virus?

u ¥ & FF f Rt IR F SR E 82
Options:

1) Plague

T

2) Polio
giferdr

3) Tetanus
fecw

4) Leprosy
DY AT

Correct Answer: Polio

Candidate Answer: Polio

QID : 286 - Which of the following impart yellow color to urine in humans?

e 8§ § @1 1 91 & Qe § i 3 yeH Rl 82
Options:

1) Lymph

GRIED]

2) Bile Salts
O wrqur
3) Urochrome

4) Cholesterol

b

Correct Answer: Urochrome

Candidate Answer: Bile Salts

ot @aur

QID : 287 - Which of the following is NOT one of the fundamental quantities in physics?
TTH 9§ o a1 et & A 9w T8l §2




Options:
1) Length

2) Time
a9

3) Weight
HUR

4) Mass
GoqHI

Correct Answer: Weight
UR

Candidate Answer: Weight
HUR

QID : 288 - Which type of sound is produced by a bat?
TGS §RIT e USR T eaf Ia g 82

Options:

1) Subsonic

2) Ultrasonic

3) §upersonic

4) Infrasonic

Correct Answer: Ultrasonic

X

Candidate Answer: Supersonic

QID : 289 - Chief component of first generation computer was
gt Uil & SR BT YT °UTH, i
Options:
1) Transistors
i) Vaccum Tube
d
3) Integrated Circuits
' e
4) No option is correct
DIg fadHed T Tl §

Correct Answer: Vaccum Tube

dgH =8

Candidate Answer: Vaccum Tube

R S

QID : 290 - Heating of rubber with Sulphur is known as

TR & I &R B TH HAT F w0 & S I 3
Options:

1) Galvanisation

2) sulphonation

3) Bessemerisation

4) Vulcanisation
Correct Answer: Vulcanisation

Candidate Answer: Vulcanisation

QID : 291 - Corundum and Cryolite are important ores of which of the following metals?

PR SR wraRe Fufifad wrgs & 3 s ofie §2




Options:
1) Silver

2) Iron

3) Aluminium

4) Tin

Correct Answer: Aluminium

Candidate Answer: Aluminium

QID : 292 - What is the color of ozone molecule?

SIS SfU] T T T §ielT 92
Options:

1) Blue

2) White

e

3) Yellow

dier

4) Green
ol

Correct Answer: Blue

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - Govt of India launched four major digital initiatives in to push e-education. Which of the following is part of this initiative?

YR WHR 7 5-R1e Y gerar 7 & o IR v f$fiee uga o Yeaa o911 FHofaiad § & o w1 39 ugd &1 fewan §2
Options:

1) Swayam

g

2) Swayam Prabha

g g

3) National Academic Depository

4) All options are correct

qft fyper wet §

Correct Answer: All options are correct

gt faepea Tt §

Candidate Answer: Swayam Prabha
RCERL

QID : 294 - Who invented the revolver?

RaleaR &1 siashR foa faare
Options:

1) Edward Jenner

TSds Ok

2) Alexander Fleming
3) Albert .Einstein
3eqC

4) Samuel Colt
Y3 Plce

Correct Answer: Samuel Colt
I3 Biee

Candidate Answer: Samuel Colt
JGard Plce

QID : 295 - Kidambi Srikanth is famous for what?
farcet shapfa foraes fore fdres 82




Options:
1) Tennis

2) Kabaddi
3) B';ldminton
efiie

4) Fgotball
Hadid

S

Correct Answer: Badminton

Canqidate Answer: Badminton

QID : 296 - Thaipusam festival is celebrated by which of the following communities?

UIEYgY WieR fafafad sueri § § SIF T 82
Options:
1) Telugu

2) Tamil
GIEG]

3) Malayalam
HegTeH

4) Marathi
WISt

Correct Answer: Tamil

Candidate Answer: [ NOT ANSWERED ]

QID : 297 - Who among the following got the 'Bharat Ratna' award, before becoming the President of India?

HRd P YUl 7§ Ued, Fafeld # § g HRd e GREBR A TRl fobar rar 41
Options:

1) S Radhakrishnan

T AUFOA

2) APJ Abul Kalam

TS 3fegd HaH

3) Dr Zakir Hussain

SRICagsE

4) All options are correct.

il fyre Wt B

Correct Answer: All options are correct.
Tt fwed OEl &

Candidate Answer: APJ Abul Kalam
i Sfegd Ham

QID : 298 - Who wrote the book "One Indian Girl"?

g $FETeT el gRaw feem ot
Options:

1) Chetan Bhagat

ESE RG]

2) Javed Akhtar

TAe &R

3) Taslima Nasreen

4) No option is correct

Correct Answer: Chetan Bhagat
ESERNIGE

Candidate Answer: Taslima Nasreen

QID : 299 - Qatar announced a programme to allow visa-free entry for how many counties in the year 2017?

Y 2017 B SR A fhan 3301 & g dien gaa vaw1 &t Sl &1 & fou o sies 3 9o o
Options:
1) 25
2) 48
3) 96
4) 80




Candidate Answer: 48

QID : 300 - Which of the following countries signed an agreement to connect India by waterways in year 2017?

¥ 2017 FEfiRea 220 § ¥ P 91 JaaRT § 4R 31 Sie & Y Te IHeia | gxer oo 22

Options:
1) Nepal
ELIGH

2) Pakistan

LlIEasict

3) Bangladesh

EIECIEN]

4) Srilanka

ficieT

Cprrect Answer: Bangladesh

Candidate Answer: Bangladesh
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